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CERTIFICATE IN PRIMARY EDUCATION 

Term-End Examination 

December, 2012 
O 
O CPE-03 : TEACHING OF ENVIRONMENTAL 

STUDIES 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) 	All questions are compulsory. 

(ii) All questions carry equal Weightage. 

1. Answer the following question in about 

600 words : 

Prepare a flow-chart showing various 

components of environment. Assess the impact 

of man-made environment on natural 

environment. 

OR 

What are the various strategies for transacting 

Environmental studies curriculum at primary 

level ? Discuss Discovery Approach. 

2. Answer the following question in about 

600 words : 

What is meant by adaptation ? How plants and 

animals adapt to their environment ? Explain 

giving at least one example of each. 

OR 
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Discuss various techniques and strategies useful 
for teaching Environmental studies at lower 

primary stage i.e. classes I and II. 

	

3. 	Answer any four of the following questions in 

about 150 words each : 
(a) EVS is an area of study as well as an 

approach to learning. Justify. 

(b) What is respiration ? Write an activity to 
demonstrate that Oxygen is taken in and 

carbon dioxide is released in the process of 

breathing. 

(c) How is acid rain caused ? How is it harmful ? 

(d) What is the composition of air ? How would 

you show that exhaled air contains more 
carbon dioxide ? 

(e) What are the various applications of air 
pressure in our life ? Give at least three 
examples. 

(f) What are communicable diseases ? List three 
diseases each caused by bacteria and viruses. 

	

4. 	Answer the following question in about 
600 words. 

Why is pupil evaluation important ? What are 
the tools used for evaluating academic 
achievement in EVS at primary level ? Explain 

giving examples. Construct two multiple choice 
test items for evaluating child's understanding of 
air pollution. 
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